Solutions to Chapters 3-4 Exam Review.notebook

Foundations of Math 11 - Chapter 3 and Chapter 4 Exam Review

Multiple Choice
Ideniify the choice that best compleies the statement or answers the question.
i ) 1. Determine the length of fto the nearest tenth of a centimeter,
D ==
SinF sInE
< _'E_ =92
£ pacm Sin53" sin70° .
fande = 928053
S\ TD SINTO’
E
£="1%8.2¢cm
A) T8.6¢cm
B) 79.0cm

C) 794cm
782 cm

A 2. Determine the measure of 2R to the nearest degree.

P sinR = sin P
r C " .
80"\ 8.8 cm snRkR = 8inBO
2.8 11.0 _
g LSRR = §.88in 80
R 1.0 cm Q e .o
. P sinR= ©0.7878
?ﬁ“ R= sin?' (0181 8)
) 500 R= &52°

Dy 567
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.: I } 3. Determine the measure of #to the nearest degree.

Sin ® = S\n Y

2.9 15.0
129 cm 15.0 cm 15.o-sn®= 1A sin63°
159 15.0
- ) Sin Cg = O. 76@3
A) 30° _ "
B) 60° Q=80
C) 40°
@ 50° - d
. In ADEF, /D =61° d=23.9 cm, and £E = 38°. —=T =
-&_ ! [])]efcnnine the length of side eigithaélncaresttenth ofacentimeter. S\NE S QT:_-;,DQ
e —=
16.8 R nGl
@mnzﬁ Sin38 “52‘3 asin38’
C) 17.6cm E‘Sl_ﬁ 6; -
D) 18.4cm S E!ﬁ’G\ T sinGl
C 5 mAXZ 2x=51°x=700m, and £Z=41°. =16.2Cm
S Determine the length of side y to the nearest tenth of a cennmeter ,ﬁ Y
<Y =180-51"- -4\ T"‘-—-’;‘(
A) 11.0cm 4\(= T h Sin SN
& soen g SinsT
', Sin \ "
BOc
: " N 5_@&5-‘{“ 1.0 sin 8%
SinSt® SinSl

\f- q.ocm
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A s In AQRS, g =10.0 cm, s = 9.0 cm, and £5 = 61°. sinQ = sink!’

Determine the measure of £ to the nearest degree.

10.0 Q.o
. desinQ= 10.0s8in6\’
B) 75° o Ve -
C) 78° Q& 9.0
D) 77° <in@= ©.9718
= ‘)
‘A_ 7. Determine the length ofjgi to the nearest centimeter. g= g‘g\o (0 L= g)
gr= K+ 2KL cos T )
2 2 o (30)P+ (26)2 2(30)Q26) cos ST
26 cm 3= Q00 + 616 - 1560(0.5446)
J?--_- 1576 = 849.5760
2= 726.4240
K Jd
J= NT26H2H0
27 :
2622 \J = 2.—]-0 Cm
C) 34cm

D) 33cm
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'__:D_ 8. Determine the length of PO to the nearest tenth of a centimeter.

2. 524 qt-2P9,C0S R .
T e 5 3 52
! = Q1L.OY +(83) —2(.11.0\(.‘355)(22515_”
83 r fas i) + 6%.89 - 182.6(0
= 189.89 - 112.426%
'f'q: '1_1"—‘@32
R ll%cm Q = A
! 3'4‘”“ r= 8.3cm
By 9.1cm

835cm
éﬂ.%m
:D 9. Mmﬂmmw;umofﬁtomcnmldeggasAﬂ b*+ Cz_ Qt
c b S A 2ok y:(00-2)°
co = ! +(\02.0)~ -
102.0 cm 91.8cm C_FH 8) C'

— 2.(a1.8X102.0)
Cos A = 847724 +1040H ~10 040

i a 18 7127. 2
1003 cm CosA = 879l1.2

g)} gg: 12772712

B A Sistcon

A= cos!(0.46AaH)
o
B 10. In ADEF, d=13.5 cm, e= 182 cm, and £ F = 60°. A= ©2
Determine the measure of f'to the nearest tenth of a centimeter.

1: 2 ?- 2d CDS F a
164 om {fﬂ: gEEJEiJr tl*a.z?‘-zma.s)u's»z‘) cos 60
) 16.6cm o= 18235 + 331.24 - 4Al.4 (©.5000)
D) 16.8 cm .p,:.: 5\3_Hq-' 1‘_15_}
£*= 261.79
£ = V26779
£=16.4cm



Solutions to Chapters 3-4 Exam Review.notebook

A 13.

B

Cos D= e?+ £ d?

et 2 :
coS D= (!6%%‘4-(2‘1.0)—(23.‘15
2.(16.8)21.0)

. InADEF,d =239 cm, e = 16.8 cm, and f=27.0 cm. cosS U =28239+779 -571.21

Determine the measure of 2D to the nearest degree. 0.
cosD= 440.03 -
07.2
A) 347 B) 64° C) 58° 61°
. How you would determine the indicated angle measure, if it is possible? cosD= Q- LI ta SO
D=6G6I"°
197 100 ¥ :
: AN 6\.665 = l\(EWO‘F @S\DCS
i)
18.8
the cosine law

B) not possible
C) primary trigonometric ratios
D) the sine law

Which one of the following equations is valid? (_‘l B0 ° G)
Cos36°=—c05]44° *CQS@ﬂ_COS
B) cos36°=—cos 36°

C) cos 36° = cos 144°
D) none of the above

Calculate sin 167 to four decimal places. Predict another term that equals sin 16°.

A) ~0.2756; sin 164° Sin l6'= O- 2156 ;
0.2756  sin 164° *gin O= Sin (180 -0)

C) 0.2756; —sin 16° , A 4 o
D) none of the above SN 6= S\nhy 164
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>

I5. Calculate tan 25° to four decimal places. Predict another term that equals tan 20°.

@ 0.4663; —tan 155° +on 25°= 0.46k3 |
Bt % done= —tan (80-0)
D) —0.4663; —tan 155° tapn2s’= - Tan 1S5S

16. Which set of measurements can produce two possible triangles?

@) 24=48,a=42mb=50m h=bsinA h= s0sin4g® h=3.1

B) £4=48°a=82m,b=13.0m X \ h < <
C) /A=48",0=52m,b=70m ASATIEE a‘b\ b—'r \ D) \ed.
D) £4=35%a=108m, 5=80m Lo 2. POSSIDIE na S

17. InAPQR, £P=18%g=45m, and r = 6.0 m. "
Which statement is true for this set of measurements? i : £
¥ No matehing pair
@ This is not a 554 situation.
B) This is a S84 situation; no triangle is possible.
C) This is a 554 situation; only one triangle is possible.
D) This is a S54 situation: two triangles are possible.

18. Determine the i:@icated angle measure to the nearest degree. 2
25am B cos A= g_{w-x-c -Q

2bc "
4.2bcm 5_5‘:“1 cC oS A= (."lz:)a‘\" LQ-S)E‘ (SQJ)
2.(.'-\.?_)(.1.'5

cos A= 1o +623- N3k
C
A) 1017 j L-‘-L 11
By 1067 N

b cos A= s Wl

Gnr L

COSA: —0655—?
A= cos™ (—0.655—1)

A=111"°
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Problem
19. InAPQR, /P =55° /Q=77° and p=4.5 cm. P
Solve the triangle. Round angles to the nearest degree and sides to the nearest tenth of a centimeter.
Show your work. Q. =_P C = E
<R=180-55-77° SinQ@ sSinP SinR  sSinP
<R=48° -Qu_.a= 4.5 LY r u= 45 Y
SinTT S\nSS SiNAd8" sSinsS

qSin55°= 4.5 SinTT* - ginss*= 4.5sin48”
SISS® SINS5* sin5s° SinSSe
Q= 85.43cm = 4.lecm
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\}bﬁ\ :om
20. InATUV,¢=6.0m, u=7.6m,andv=8.0 m. P
Solve the triangle. Round angles to the nearest degree and sides to the nearest tenth of a meter. T N2 H
Show your work. 4 8 8 B-0™
cos = uz-}-\/‘z... -t?‘ cos V= t’;@
2uv - a Z'EU. 2 2
cosT= (1.6)2+ (3.0)-(6.0)" cos\ =(6.0+(1.6) ~(3.0)
2.C1.6)(3.0) 2.(6.0)(7.6)
cos T= S7196+ eH.0- 6.0 COS\! -:-6(:.0-':—5‘776-6‘40
T iy
cos T= %o lb = 29.
V.G cosV hﬁTziGz o
CosST= 0.71053 cosV= 0.3363 U=180%45=1\°

T=45° V=118 u= 6H4°
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21. A triangle has side lengths of 4.9 cm, 5.6 cm, and 9.1 cm.
Sketch the R’angle and calculate the measure of the largest angle to the nearest degree. Show your work.

& 56 cos A=b*+c¢*-a?
H.QA 2bc s s
B ¢ cos A= (6. +HN=-CA.1)
9y 2 (5.6XH )
* ’\9"865“' A“Sle cos A= 31.3¢ + 2+.01— 828!
iS opposiTE e qgj‘-i.%g
CosA=-0.5000 A= 120

10
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22. While golfing, Valerie hits a tee shot from point 7'toward a hole at #. However, the ball veers 20° and lands at
B. The scorecard says that H is 320 m from T. Valerie walks 200 m to her ball. Sketch a diagram of this
situation. How far, to the nearest meter, is her ball from the hole? Show your work.

H : B +2= b*+h*-2bhcosT

: 1£2= (320)* + (200)*- 2(320)(2.00) Cos 20°
b h £*= 102400 +H0000 - 128000 (0.2397)
o™\ f200m 42 142 400 - 12023816
+2= 22 118.4
) L= \22.118.4

"E: %;_l_%"!m-:& ]'-\Qm

\Volerie’s ballis 149 m Hom
+he hole.
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